EARAROBREBRT —5 XN—ZXBISH—F

2022463838 (A 220EHH3E

I C3— YS5R4mt BRI
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< PHET : -4-3- - BHHEZ ()
1 lgli x1vam=aE 4 5 rER 1.(3_4).3 3-4-3-1 | 41.2 4 (4+e318) e
RIRIVIRTAwIOFUT7— B:YvAURN)L " g
. 8-0- _ R (B
21111 FryoL—rL 4% 5 i%%ﬂ 1(73;1:;1 10-8-9-8 | 40.6 5 (4+71(; %;gx?;tg (Em®)
R:O—-LILFLA0 B:7RIAPI2IIL WeESHS
3 N PEPEEDEL, 44 El%ﬁsﬁ 1:(324%.7 6-7-4-3 | 41.4| — 2 (4:33 %@fﬁ ()
Ri—5—yvF B:FSRI7IL HBEIT7—L
= 4 | WAFER 1:35.4 11-11-11-10| 41.4 | — 11 541 | =BEZ (EH)
4179|2747 —/ i 56.0 0 @) | @ Fr—2bEYav
R I RD=LEY B:5FI9—tA/\—h (B) H&I—RU—y3vEET 7
=~ - P HEHE= :35. -8-7- . - HEABE (FH)
5 4 TS5VR—FI v 4 a5 (11 315/27) 8-8-7-5 | 42.0 3 (4+912) HE%E
Rib—trya—sv H:gO0x3 B BZE
o = EAES : B = Hh—15 (B
617010//b—Y214F7Ib uo 547.% ¥ 1(;%';-)7 AR R ! (4550) kgég @5
RIN=VITSA B:HYITrIHY (B) 81— RL—YavEET 7
= = £ 10 | JIRE— 1:36.0 3-3-6-4 |42.8| - 10 | 430 |fEBHEER (EH)
7 7|INAT4=754 ! 54.0 (1172 @) |8 Fo PR MBS
RiIAFAT—ILR B:RU—LS1T St
© s ~,L0 TIMGEL : -1-1- - EAB— (Fk)
gl5l6|/fyvave—7F %5 | Gy | e > ==
RibkotO—LR B:F3254XF B 5hE
= 4 5 | EHNEBtE 1:36.1 6-5-8-8 | 42.6| — 12 | 511 | Rl (RE)
RiN«A40O B:AUAFvY INANAT7—L4L
RYDAS < INSEF :36. -10-10- . - TR¥e (EH)
1005l 5| vrrIILL— 4 9 e 1(73?:)2 9-10-10-11 | 42.3 8 (4_772) e
RiZRIAVYL—Y BTATANS—R N7 7—L
o ERE : -12-12- - KIFER (Faks
1" ) |07 RZAL W R 45 o (11.336/.45) 12-12-12-12| 42.2 9 (4_830) t%%%?( )
R:D—=JT#—R B:70-NILT+4—h TDKS
w3 {ELARHRE :38. -2-2- . - thixih (RH)
128111 W3y —TJ 1T AR 4t 4 5 1(398)0 1-2-2-6 | 45.4 7 (i?g) Py
RPIRTA TSR B:TVI—L =iE ®E
@ 11— —®BIEfI
13—7— 6,11),(7,12),10, (3,8) ,4,5,1,9,2
20—F— 6,11,7,12,(3,10),8, (1,4),5,9,2
30—7+— 6,11,12,8,10,7,4,3,1,5,9,2
43— — 12,6,8,7,4,(10,11),(1,3),9,5,2
o ILRE
B B 12 7004 JA R 1-12 810M4 % 5E 1-8 4,080M 3EE 1-8-12 4,120
7B B 12 230 8-12 430/ Fs E 1-12 3,260M 3EH 12-1-8 29,6604
1 380M4 1-8 770 Ba 12-1 6,490
8 1504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




